The Association of Corporate Treasurers CPD Entry Test

Managing Treasury Market And Credit Risk
Worked Solutions

Question 1

Which of the following best describes an FRA?

(a) A binding contract to fix an interest rate

(b) A right but not an obligation to access a specified interest rate

(c) An option to fix an interest rate

(d) A floating rate acceptance

(e) Don’t know.

Answer

The right answer is (a).

A FRA (forward rate agreement) is a binding contract between a company and a counterparty (usually a bank) that fixes a rate of interest on a notional principal for a lending period in the future.
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Question 2

For a borrowing company an interest rate floor is equivalent to which of the following?

(a) Buying an interest rate option

(b) Writing an interest rate option

(c) Arranging an FRA

(d) Buying interest rate futures

(e) Don’t know.

Answer

The right answer is (b) Writing an interest rate option.

For a borrowing company a floor is the equivalent of allowing a counterparty the right to make good any shortfall below a given interest rate.
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Question 3

Which of the following is a measure of how the value of an option changes as the price of the underlying asset changes?

(a) Delta

(b) Gamma

(c) Rho

(d) Vega (or tau)

(e) Don’t know.

Answer

The right answer is (a) delta.

Answer (b) is the change in delta as the spot price of the underlying asset changes.

Answer (c) is the change in option value as rates change.

Answer (d) is the change in option value as volatility changes.
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Question 4

You are treasurer of a large UK PLC involved in a competitive, fast moving consumer goods (FMCG) market.  You have read much about interest rate risk in the financial press and you are concerned to avoid it.  You have no view on how rates will move in the future.

You are arranging funding for capital investment in an asset with an expected life of five years.  Which of the following alternatives would you select?

(a) A floating rate loan with a bullet repayment in 5 years

(b) A fixed rate loan with a bullet repayment in 5 years

(c) A fixed rate loan with a bullet repayment after 10 years

(d) Two 5-year loans, one fixed rate and one floating rate, with repayment schedules starting after year 1

(e) don’t know

Answer 

The right answer is 

(d)
Two 5-year loans, one fixed rate and one floating rate, with repayment schedules starting after year 1

The question is whether either fixed rate or floating rate is inherently low risk.  A common mistake used to be that floating rate was risky and fixed rate was low risk.  This has been emphatically swept away by the introduction of IAS 39 and fair value accounting which requires that the market value of financial instruments is declared.  Fixed rate, with its variable market value, falls foul of this. This is not a mere accounting formality, it ensures that companies disclose the economic values underlying the business’s assets and liabilities. 

Therefore (a) incurs one form of interest rate risk while (b) incurs a different, but no lesser risk.  Answer (c) incurs the greatest risk as the duration of the loan is the highest.  Assuming the capital project delivers returns these can be used to service the repayments schedules
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Question 5

You have been asked to advise on the funding of an international business.  The business is based in the UK but has significant manufacturing subsidiaries in the UK and Sweden.  Much of the balance sheet fixed assets are in these currencies, as is the manufacturing cost.

Revenues are in US dollars, euro and sterling in roughly equal proportions.  The result is that sterling cost and sterling revenues broadly equate to each other.

At present the rates for term borrowing are:


SKR
8.0%


GBP
6.5%


USD
5.0%


EUR
5.5%

Which of the following would you recommend for the funding?

(a) SKR and GBP in proportion to the balance sheet assets

(b) All GBP

(c) GBP, USD and EUR in proportion to the revenues

(d) USD and EUR in proportion to their relative revenues

(e) don’t know

Answer 

The right answer is (d) USD and EUR in proportion to their relative revenues.

At present the company has cost in SKR, is broadly balanced in GBP and has net revenues in USD and EUR.  From a risk perspective, the last thing that the company needs is more SKR cost, so SKR funding is probably not a good idea. 

GBP funding has the advantage that there are GBP revenues, but there are also GBP costs which already take up all of those revenues.  GBP funding would be neutral from the perspective of balance sheet risk, but it would leave the USD and EUR revenue risks fully exposed.

The most logical course of action would therefore be to use USD and EUR funding to offset these revenue streams.  In the extreme case, the question is whether you would prefer to breach a covenant on gearing as the value of SKR assets has changed, or breach a covenant on ability to cover interest on a loan in a currency in which you have no revenue.
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Question 6
A manufacturer of a high technology plastic material incurs all of its costs in the UK in sterling and has all of its assets in the UK.  Almost all of its production is exported from the UK, 50% being destined for the United States.  All of its sales are in local currencies.

For this company, which of the following describes its inherent currency exposures, i.e. before considering its currency of debt?

(a) Immaterial

(b) Relating primarily to the balance sheet

(c) Relating primarily to the profit and loss account

(d) Relating primarily to the volatility of the currencies concerned

(e) Don’t know

Answer 

The right answer is  (c)  relating primarily to the profit and loss account

The assets are in sterling, which is the functional currency.  Therefore until there is a non-sterling asset or liability (such as the funding, or any creditors / debtors) there is no issue of translation into sterling in the balance sheet.

The profit and loss account is a different matter.  Virtually all of the sales are denominated in non-sterling currencies.  The company therefore has significant exposure to the value of those currencies when converted into sterling.  This could be at the average rate for the year or the end-year exchange rate.  Using risk management instruments could alleviate this risk.

Answer (d) is not true; the size of the risk and the extent to which the treasurer may wish to hedge the risk may well be affected by the volatility.  The risk itself is independent of volatility.
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Question 7
A US-based group has extensive interests in the design, manufacture and sale of mid-range hi-fi systems.  It manufactures within the US from US components and sells throughout the United States but it does not export at all.

Which of the following best describes the currency risk faced by the group?

(a) There is no currency risk

(b) There is a translation risk

(c) There is a transaction risk

(d) There is an economic risk

(e) Don’t know

Answer 

The right answer is  (d) There is an economic risk

Translation risk and transaction risk require non-functional currencies to be present, either in invoices or assets / liabilities.  Neither of these is the case.  However, there is significant presence of foreign competition.  The presence of Japanese brands with costs in currencies other than the domestic currency but priced in the domestic currency represent a major economic risk (sometimes called competitive risk or strategic risk). The practical implication of this is that such companies can gain advantage if their cost currency weakens relative to the domestic currency.

Even though the US company has no foreign currency costs, revenues or assets it is still exposed to currency risk.
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Question 8
As treasurer for a UK-based motor manufacturer you are concerned to offset the effects of any currency risks which you identify.  Virtually all of your costs, but only 55% of your revenues, are in sterling.  The remainder of your revenues are in US$.   You have decided to raise all of your term debt in US$ in order to provide a hedge for the US$ receivables.  In order to ensure that the value of this liability will not create a balance sheet problem, you simultaneously enter into a cross currency swap to convert the liability to sterling.

Which of the following statements is most applicable?

(a) Your currency risk has now been eliminated.

(b) Your currency cashflow risk has been replaced by a translation risk

(c) Your currency cashflow risk has now been replaced by an interest rate risk

(d) Your currency cashflow risk is unchanged

(e)
Don’t know

Answer 

The right answer is (d) Your cashflow risk is unchanged

The US$ debt on its own would provide a cashflow hedge and at the same time create a translation hedge.  This is not just an accounting issue – loans do have to be repaid at the rate of exchange ruling at the time.  However, linking the loan to a currency swap gives, effectively, a sterling liability.  The original cash flow risk is therefore unchanged.

There may be a small cost advantage in that swapped loans can sometimes deliver lower cost sterling than the directly raised loan.
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Question 9
You are trying to decide which possible method of financing will lead to the lowest interest rate risk for your company.  The company is an estate agency which has just extended its number of offices by purchasing three new properties.

Which of the following courses of action would incur the lowest interest rate risk?

(a) A fixed rate loan at 5% interest

(b) A floating rate loan, currently at 4.75% interest

(c) An endowment, variable rate mortgage with 4.5% interest and 0.5% annual premium

(d) A loan which incurs no annual interest payment, but which rolls up interest at a variable rate equal to LIBOR plus 0.7%

(e)
Don’t know

Answer 

The right answer is (a)  A fixed rate loan at 5% interest

The issue being addressed in the question concerns the risk inherent in the nature of the business.  An estate agency is likely to see a rise in its level of business, and therefore its ability to pay interest when interest rates are low.  As rates rise the agency’s level of business is likely to fall as the housing market slows.  Its ability to pay interest would fall just as its requirement to pay increased – if it had variable rate funding.  Answers (b) and (c) both suffer from this drawback.

Answer (d) is a deep discounted floating rate instrument which could result in a massive liability in the future.  It is the riskiest of the lot.
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Question 10
As treasurer of a medium sized engineering business you have seen a period in which the business has been transformed from a largely labour-cost intensive business with only minimal capital investment into a highly capital intensive business with only a small number of highly-trained staff.  Unit cost is much lower now and you are better able to compete.  Over many economic cycles you have noticed that your level of business does vary with the prevailing climate, but by no more than other engineering businesses.

The business is fairly highly geared, with interest cover at 3.7 and gearing at 70%.  All debt is at floating rates.

What would you expect to be the major feature of interest rate risk for this business?

(a) The size of the debt

(b) The balance sheet gearing

(c) The income gearing

(d) The volatility of interest rates

(e)
Don’t know

Answer 

The right answer is (c)  The income gearing.

Now that the balance of cost has switched from variable cost to fixed cost, the level of income gearing has increased dramatically.  Now most costs are fixed, before most costs were variable.  This means that any changes in volume, for any reason, will be amplified as they impact on the profitability of the business.  The economic cycle, and consequent changes in interest rates, will therefore have a more pronounced effect.
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